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NUMBER SYSTEM

1 rtnoduction

o

r

Real Num'%ens ﬂmenaenana Nurﬁ%QﬂS
* Wich Canbe represent ed o LHich Carrbe not mafmesented
Oh humben line On Nuriben Jine
QS'."i,Ool;Q‘a'Sh 83: i’a+‘i-6 Sucﬁhumben

d =40+ 3= J-1|f noexstngead

I

Rationad Nuniben Jreational Nurriben
« L Hhich-Canbe wattten o Livhich Gan not be Watten in
th Form of F/q, (9,#0) Fosm of f/q,.
€9 230 539 UsLs Vig €9: J5,23, Ty e
7 = Qe =3 145F-- . -
£ 9293028 - - e
Fhaction{ Qecimal Jntegen
o Which ane in Form of * A Gomblte Nuniben WHRIER 15 nt
P, O ‘ﬁaufng a frnacton an decimal -
Decimal €: -3, -11,-9,1,5,243

[I’r Canbe fbsitive negah‘ve 0% Ze0
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o LHode Numbers Lntegens S%anﬁ'ng faom O

o Natwal Nunibens ; Trteqens Stanting Rrom 1.

o (sime Nurbens ¢ The nuriben HhieR s duishly By 1 ¢ no-
B tsdf (s Calid a Prime huriber-

€. 2y3,5,F 11, 13 &o B
ki is hot a Hime hum%eni
Thene ane 25 Pouime humben b/w 1 to 100

. Corﬁg)osi’re Numben: The hurriben p)-Pn‘cR -have mane than
two Factong ane Calbed Com“Eosl’fe numbdens:

QS'. U,6y 12, R1, 28 efc

| The _num%ens‘ which are ot 'fozn‘me ane Com‘%msffe Nuriber J
&— P&ime Num‘%em + Nunibens ‘Pzau(na% their HCF 181 Ane

loymed 98 Co-Paime Nurribens-

LS

E—\feh Nuhiben: Qutional numben WHhich ane the mubthly of
‘ 42 (s Called 8S even hunibens -

€1 2,u, 6, u8, 92 et

(Odd Nurben' Rotionad Nunibens WHICR are not maltibdy op

9, ane Odd: Numben-
e&: 193y S y31, 103 ,2U9 _ _ ___

even Nurmibens enclfna digit s 2,4»6,8,0 &
0dd Nunibers onding digit 1S 1,3,5,% 9

2
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@mo‘gem{w‘es OE Odd @nd even [\Jumf)cms_.”

¢« @uen + even = Guven
« ODD + ODD = Even

+ Gron + Even.—— —_ —+tnkmes = Even (whways)
e Odd +Odd ____ - --- 0dd hum'%ens of Hmes = Q0D
e« ODD *t ODD .- -------€ven nuniben of tmes = Bven

e Cven x EGven = Even

e [ued X 0odd = Even
e Odd x 0dd = Odd

. Cuven x (Even/odd) = bven
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(Decimal

y —

|

Teowminatin Non - ﬂnminatmg
¢ Decimal \/ahn's?\es Ca 1.23u56789..
144111 _ .. ...

abton Some “places
(Decimal neven anishes)

These No's Canbe

represented b&-— ' | ,
173 ! L
Recuwonin Non Recusort
QDigit of Decimal | . @(8:"( of Decimal does
qepeat atten Some hot mepeat
decimat Pdaces 6yt 1.2331592 5%
€3‘. 1. 2:%9.32323-- S $

These ane Trvationa) Numben

These ane vationa) Nunbens \

—X—X K N e N S s S AR A
COh\/QTlan Qecurmung dn P/q/ Form !
( onmg the — Ban) pmo%!)ﬂms]

€8, x=0 T, Convert #t into Plg, fanm.
Sol"s H=0t1F_._.._ "0
= Fe -0
oM= F 333 - - - - —'l(?(—)ononehgﬂfsmmﬁlﬁ
| _’3_'@:_ 30000 —{ (-) On two di n—
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®  x=o08
_ 8
L =950 mahy digits Contain ="y, Wnite 9 38 many
{'\‘m@S'-'-
(b U =038

- _ 26
o %QK "33
Tape—II&

©) o =0-384

- 38u-3 —» Nuriben Aften Decimal — Nurmben nat Gontainban

390 —» T as many d{gif inl=),¢ 0 as tnand Hmes
hot (onfgin (-),

/L - 4197
990 330 binz

n= SZ_LT?T
- 95196 1332
= 52ug—b%2 =
9900 9900 3300 e
[ e
@ 2:65 (b 5.3
% 28065 - 5+03s
o+ 65-6 (Same ss tjhe )
— ) = 29 ==
= £90
a9
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Diwvisibility Rules =

r\
NumgeR RuLe CxamPLE
2 Last d\iﬁ’ IS d\visib_ﬁ.l%\tj €3'. 2.34%
2, ov Jast digit is 0,2 (348
U608,
L e Eq: 1071
3 S\;m of digttis diviskl {9+o+—ui=3
y 3
4 Jast twodjgt of humben | 1432
is divisible 'E)d y 3284
5 Last digit (s 5 070 2336, 1930
6 Nurben s divigihly bﬂ 132 divisthly ba?-
2 and 3 each 14342 — divisthb 3
+ -Mui’r&:ﬂg Jast digit .
by 5 ik /M-"’
+ Addl the Slaweh}lé"%ﬁ_ O 3xs=15
« (F qemaing digi L usbe 3y q5- a 49
3, then numbeni'y diVl‘Sib_h'{)td %)
divided by
8 Last 3 digit anecivisi- 8032~ 3&
br by ¢ ’Diuis‘l’nﬂf{)a Y
3. Qum of dgits IS divis- | 1931 — 1404141 =g
fble by 9 L
divisiblrby 9
14 + Defnence of umof
digtt atodd Places & '133’;* .
. (3+) - 3t1) =0
@mrra: c?:. digt at Sven . 11716520
(11348 +2) -QU4L+5+9=11
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@ IP 312680 5 LS dJ‘Ul‘SfMe "%U 1., then e
\Jalue Of ¥ IS¢

~ool": (Quim of 0dd Rlace digit) — (Sum of Even Rlacedigit)
= (3+2+9)— (A4 6+ 0)
= 43-6—H
- 2-m | Etthen O oF divisibl by 11)

=7+ ] flng




[

l@‘;p?m,wsw@ On

Unleash the topper in you

CHCDJG\‘{H;

Unit digit is méf;ea’red aften Some time of anh erponent -

" -
n-"=2 3= 3 nl=y +1-7
0% -y 2-g w2 =16 =49
'23:8 33=’2.1" L\G: 6Y '—'—3:3\43
25 = 39 35= 243 (ydicify=2 35= 16807
2 = 6y 3 = 729 Qeticity =y

- duiaty =y

Cyclitaty =y (Yaty
gt=¢Q - 9t=g
8> =6y 9%=81
63 = p12 93 = 129
84 = 4096 " = 6561

8% = 327168 %Qﬁcﬂu—;z

€93 @)%, Rind the digit at units Place
Sotn @ divide e Jﬁ)owen %3 4

9n Bxamsdividein 4J ‘JZ\’) (105  Rermainden = 3
%ﬂa\‘nd y not in fen— “’gg 23 = 3 fn
P 20 G
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Unit digit and ten’s d\'ﬂl"r Concapt-

# 123y
\ '—>Um’i—dg\'+
Ten's \‘Si’(
6y Type—]z\

@ 23xus = 9x§ = u@ ULnitdigit =5

(b) 'lw*'?)
WXg + 3

buUX B
3243 = 35, > =3

Tye-I

@ (0,1,2,31455,6:%,8,9) b (OJ:iL,S’b)

\
CUQQJ cn"ra CDhC@}DJ(

TP+hene numben ane at unit Plaq
Unrt dt‘aii‘ of muﬂ&‘h‘caﬂ‘oh ISalso
8 Same humbey .

€95 @ 35%33 36

9 5 b) 36x 3¢

Hgl%‘ng Hand & 492255Samy = 3Y456—>Smy
@ Divide the Fowen by y.

o Remaihden of division 1S 0y112,3.--

emainder= 1 = H% (g unit digit
= gemaindQné 2 = H* 1§ unitdygit
Remainden= 3 = H3 1g unit igit
Rermsinden30 = HY (g untt digit
TP s is 207 3 digit nunrben , then unit digit of thet numben,witiBe
e UNit digit of Qniginal E‘ffmnen’r'

9
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Salved EScamfg_l_)eS

O What Jeast huraben must be added to 1056, Qo Hhat
Qum 1S Comﬂe‘reﬂd divisile ‘BH 237

Solh= 23) 1056 L4
32
136
1185
01
tPen Num%en added {5 = 23-21
=2 fins.

@ The &ayaest + 4 d|‘8\‘t hum%en Gxac‘r&a diu(sﬂﬂl % 38 15 -

@ 99uy by 968 (©) 9388  (d) 888Y

Sons Langesd u digit Numben = 9999

83 ) 9993(113
[Ty
119
88

319
264
5—» Sib tract Fyom the u digit Laygest nUMbY
= 9999-55 = 99uu fim

@ IF the num‘%@v 51 132U IS G)m‘fme‘ren dlvus\‘ﬁh'tbs 3 ”rP\en
e Smallest Whole no- inhlace of M w.m e

@) O (b) 1 © 2 d) Nonhe
B+ 1+F+H+3+2tY TP nurben is divistbli by 3,1hen Sum of
=22+4 digit 1S aso dwnsuﬁh:\i)\.‘

TP 2§ used in-Place of H , Hhen numben ig dVlS’%ﬂ'j@W““)

10
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@ WHhich one of the PaQQowing ho- (g dfuu‘srﬂh% u?

() 2356ul (b) 245642 €) 31562u (d)ul5624

Solna (Q) 2356ul o
( (2+5+4) — (3+e+d)=1 (no‘l’dlwsr%h‘%ﬂ /11)

by 2us6ul -
© 5;5;32)_ (14 g = -1 (not diuisihir by 1)
d) U156

(ua54) — (Ltexd) =0 (aliv isrr’ﬂ'%ﬁ 11)

Tpa hurtben is divisthly ‘% 11, the Oiffenence of Sum of digit
at odd Places 4 Sum of dgf% at even hlaces is e;’rPlen 0

Om d\uus‘?nllrﬁq 14 .

® Which on the FaMou)ing nunben s divisihl %U 24 -

SQodnd@ 35HE  (b) 63810 (O 63810 (© 533804 (d) 3125736

)
395719 3t5+Ft1+8 318 ¥
=24 v’
63810 6+3+9+140 310 X
=18
BIIH0U 513+ F4B+0tY doy x
=21
3125736 3+ 14245+F+3+6 136 7
=21 o

If 3 ho 1S dfvu‘sfb!h ‘%5 anothen hum"aen +Hhen it must Pe
d\‘ufsi‘hﬁ.l ‘65 '8 Pnime Factors-

11
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Unit digit Ccmc;e%t_’:

® The digit at unit'® jfﬂlace of #he Rnoduct-

QL X Q2 ¥BD. - - - - X0BY IS
(@) O & 2 ©6 8

Solns B1x82x 43 XU x 5. - - *89

4%2.X3 X 20 - X6 xFxBXI
=0%

TF we muw%ﬂa d hum%en bd 0,+he ¢esult at uni‘rﬂau
g aluways Zeno -
@ The djgi‘( i unit's Llace of the Osodudt (2183)*His3
@ 4 3 ©F @9
Solna 245 3 —> Lok base 15 3
® 4%1 = Reainden 1§ 3
© 3% = 2+ —unt dugt 8F

® ULnit digit in (264 102 4264y 103 (s -

® O b u ©6 )8
olns (26u) 12 +¢L’Lbu)1°3
_ é & n TP Base is u, then
= 410 ®)9 Unit digit of euen‘%owen Is aiwadas
urat d_[a‘j’ =0 (5)3 Lnit digit of odd Powen is Aoqys |-
“Yecause Qyelicrty (3 2

e

12
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@ uUnit digt of (169)%%7+ @w* i3

@) (by © @
53t 39y
Solin ('Lbi) ! (Sr) TP +pe Base 1S 3
3 + 6 @ Unit digit of 00D Powen IS always 9.
B (b Unit iyt of even Power is days 4.
= A48 ‘
- unt d‘B 185 oy because Cachma ig 2.

The duyit in tHhe unit Jﬁ:ﬂace of

[ (250 38+ @22~ @oe/100+ o8)>- (16) 1+ 259+ ta3) {5 —
@ 1 R @s @b

Sobns (251384 (202 (104°°+ (o5)35_ (1g)'+ 253+ (332

A R 2 B

L+ 4 — 6 + 5

- 6+ 9 + 7
Unit digit of base 4,5, 6, (% always SameJ 51 = Remainden 3
&)

=93-12 =11 G_l_l_L

. , 8Y .

@ Unit digital h Qszmssmh of? (’113?)4 s —
@4 b)3 ©) + @) 9

Sodny (21337 - Base ig +

3%
Yy
72 =

Remainden =2

43 — unit digit i3 9

@ Find the unft’s digft OF (358)%4~(253)3¢-
@ 5 ®Y ©% @3
Solin 4 @fii)“h (25%)%°
e
Y
) HQQMHG[QD _931-(

= 6-1
8q=6m=®"1 =5 fim

13
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salved eoccamplea
I- wAal Leaal Nwinber muat bhe added to 1056, 40 that s
Lo cornplelely diviaible by 237
a) 2 L) 2 (c) 18 ) 21
sal.
PAN 180256 (us

136
115

241
en nurmben added '

2321
2.

non

2- The Largeol 4 digid muwwmber eocactly diviaible by a8 io-
(a) 9944 b)) o768 (c) o988

(d) asss
sal.

Langest u digit Number = 3939
8%5%%83 (113
B
TR
349
2 by
55 —> Sab tract Fromthe y dgit largest

= 9393 - 5§ hurmBen
994y.

It

3-yf the ruvmber 5170324 Lo complelely divisible by 3,
Lthem the amalleat whaole mo. im place of o will be-
(a) o ) 1 ) 2

) None

IF numben t‘nd\‘v(s’g\h,'ﬁg 3

5+1+FT+ 43+ 21+Y

=L TH them Sumof digit IS Ao
divisible By 3-
I¢ 21s used in hlacg of H» ¥hen nuriben (g cdhuishis
%3 3 G-e-2y)

14
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4-Wbécfz.onm.o,;b‘z.ezcauo.u.u'mg/no. ,w.duwublz.bg 1?
(a) 235641 (b)) 245642 (c) 315624 ) 415624

sl ray 23564l

(245+Y4)-(346+1) =1 ( hot clivisibls 133 14)
(by 2ugeu2

(24 5+Y) —(4+6+2) =~1 U’)D't d\‘ufsf'ﬁh '63 11)
@) 31562

(:Hs:"z_) ~(4+6+y) =-1 (hot ollvisrbls ‘83 )
(d) u1s62y

(Wrs42) — (1+6+) = O (diuisthli by 14)

TP & rumber 1S diuisiale ‘33 11, tHe Diffonena Of SQumog diyitof
it atodd Blaces & Sum of digits op even “hlact is eithen O oF diuisiblebytt

5-wWAlch om of Lthe followimg mo. Lo divisible by 247

(a) 3s7is (&) e38io0 ) 537804 (d) 3125736
sal. 357119 3+5+g1+ 8 11(% N
=2y v
63810 6+3+F +841+p 810X
= 18
537180y BE3+F4RH0+y Qdou x
:Q_';,_
3125734 3vAt 2+ 54t+ate  F36 S
=23

TP 3 no' s dijvisiale by 3dnothen humben , Hen it mustbe diviandy
by S Pximy Pactorn

6-The digi al wnit'a place of the product 81 % 82 x 83...x 89

@) o )2 ) 6 d) s
sal. 1% Q2x 83-—- — — X831s
NE 2 @6 dg

Sealnd 81¥ 82 X 33 x dux BS _. .- x89
1X2%X 3 X 20---- XbXTXBX9
=0

TP we muliihh a numben of o , the tesudt &t uniTJ

Plau s always Zeno:

15



